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56.

Shakuntalam was written by -

(A)Kalidasa (B) Bhasa (C) Ashragosha (D) Kamban
yraem fRea feran € 2
(B) SITE (C) ST (D)F=7
Judaism is the religion of the -
(A)Jews (B) Muslims (C) Christians (D) Hindus
e faa o £ 7
RIS (B) qHHETA (C) e mEs
 The founder of the Arya Sama) was —
(A)Raja Ram Mohan Roy (B)Swami Dayanand Saraswati
(C)Mahadev Gobind Ranade {D)Jyotibha Phule
T # SEAE A -
et
(A)TST THEEA T3 TS T
(C)TEREA TifEE TS (D)=t &

The Indian National Congress was founded by -
(AYA.O. Hume (B) S.N. Bannerji (CYyW C. Bannerji (D) Dadabhat Nauroji

qrdtg e FHE F oSeETE 4 -
yU=37le E3H (B TR FE (TR A ()T i

. Who was called Deshandhu —
(A) Acharya Narendra Dev (B) Rajendra Prasad
{C) Chittaranjan Das (D)GS. Kharpade
vy fFl w9 2 2
(A)oTEE TE ¥ (B) TR TRR famaa S (DY TH WY
First General Election in India was held in - M{ [

mﬁmmwf&mmu@nw“o“'

(A)1948 (B) 1949 (€) 1950 @iﬂ__,

The ancient name of Assam is —
(A)Pawa (B) Kamrup (C) Pippalivan (D)Ramgram
Fn W WHEA AW E o

(A)YTE @%mw () faoreiras (D) I

(10)
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58. Indo-Pak Border is known as -

(A)Durand Line (B)McMohan Line  (C)Redcliffe Line (D)None of above
A H e W ® e st 82
- - o a . ) - - -
amE ()i JORET @i oy 3w T
=

59 Minimum age for being member of Rajya Sabha is —
(A)2S5 years (B21 years (C) 30 years (D) 35 years
T BN WG A F AU N A # E 7
(A)25 7d (B)21 =i 730 Fd (D)35 =4
60 Fundamental Rights are enshrined in which pa;‘l of Indian Constitution?
(A)Part ] (B)Part L (C) Part IV (D)Part VI
S R w1 AT S Hee # feg wm o fEm o E2
(A)ur | _jlﬂ__ﬂ}__,_ (C)9|r IV (Dy|r Vi
61. Which of them has not won Olympic medal”
{A)Abhinay Bindra  (B) Sushil Kumar () Saina Nehwal (D) Leander Paes

= o e AeoTs TEF JE S
(nefrE fam (B Y AR __ﬂ__m__ (D) ez g
62. Which of the following is the greatest circle’

(A)Equator {B) Arctic Circle (C) Tropic of Cancer (D) Tropic of Capricomn
= | wEy A% 39 F9 W 82

@_@l B)FEF FA (O)FF T (DyFFE g
63.“Revolution of the Earth round the Sun causes —
-_—__'-——’_'
(A)Day & Night (B) Tides (C) Seasons (D)None of these
q@mqﬁa‘:aﬁfmmmﬁé = £ ? & s
R (B)FER-TE Cy=ai OFE d FE T o, gad

#4. The Radio Communication is made possible by —
{A) Troposphere (B) Stratosphere (C) lonosphere (D) Exosphere
Wed warm 36 @ fEEE 99w ¥ TNE A T 27

(A) ATIHYEH (B)yFEagavEd  [(ef quzd (D) A& HUZH

\\_\__\ (11)




65. Sea breeze flows from —

(A)Sea to Land at night (B) Land to Sea at night

{C)Sea to Land in day (D)Land to Sea in day

HYET TAM (Sea breeze) Tewdl ¥ :-

(AT § Y 9 9e # HR (B)T H 9ot H "y F w0
;ﬁmﬁw DT 4 9w 8 g o oww

66. Who was the founder of the well known computer company ‘Apple™?
(A)Bill Gates (B) Steve Jobs (C) Larry Page (D) Chetan Bhagat
favg ufig =777 #oE 'vva' % S w92
i) fEaE Tzm ‘@;ﬂiﬂ_ (C)oHT T (D)FA7 977
67, WikiLeaks founder who remained in news recently —

{A)Stephen Hawking  (B) Richard Branson (C)Rupert Murdoch (D} Julian Assanue
foT=m % FmE W owE f F w6 @ -

(A=A BffF=1 B =E dvmm (o ek @’ﬁfﬁm s

68, The venue for the Formula One event recentlv held in India was called

(A}Gandhi Intemational Circuat (B) Sriperambadur Race Track
(C) Buddh International Circuit (D)Sahara Motor Speedway
oA E A § el 97 T e e w e
(A)TiE F2EAvEE BfEe (B) oz 13 =
(o1 five (D) W e

69. Crop season which starts in winter and continues up to summer is -
(A)Khanf (B) Zaid (C) Rab1 (D} None of these
WE F M qF W B A OFE A@ L
(A)ETH (B)3% E el (DT § FE
70. Which is the oldest Oil Refinery in India?
(A)Nunamati (B) Digbot (C) Bongaigaon (D)None of the above
YA H HEE QO GoieE FREE S oo E 2

(A) TSt ‘é@ T (Cyaminta (DY | =7 T

(12)
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71. Which is the odd one out?

{A)Knee (B)Shoulder (C)Palm {D)Elbow

= § FA w faum 7

@gz'-n (BYFH (C) 8o (DY FER
72. Find the odd onc out from the following - _

(A)Compass (BiNeedle (C)Magnet @irecuon

fefea o | famm 2w .-

(A feas (B2 (C) = (Dyfewm
73. ‘Leader’ is to ‘Follower’ as is 1o ‘Soldier™. -

(A)Army (B)Battation {C)Barrack @t‘aptain

¥ CwEE’ # o ' % AW A Afaw % fem

(A)ET (B) FTETH (C) T (D)Fr
74. JILK : KLIJ ;- MNPQ : ? o

(A)QNPM (B)MPQN (u:)(')pm: (DYPNMQ

75. Complete the series 1, 6, 12, 19, 27, 7 i-

g@en @ Fifaw 1, 6, 12, 19, 27, 7 -

(A)3S (B)35 @‘36 (D)54
76. 16 JUNE is coded as NXPF, how will STA¥he coded?
£ F1 NXPF 1S fam s, @1 STAY F1 01 g 31 7

(ByWVCZ (C)WWDB (D)VWZC
F;nd the missing number —
79 Ja # @ w -
5 3 6 4
) 29
4 6 5

(A)25 (B)47 (€)37 @‘41

7%. A person is walking in the East direction. He turns 45° left and then 90° right. Which direction
is he walking now?

(A)North (B)North-East (C)South-West (D)South-East

uF et 7@ frwn w1 SR wE @ R FF 45° @ s R 90° 314 a2 5| 98
fFg fam #1 @i W@ W B2

(A)TW (B)IW-Td () EfEmr-fyem ]
\ . C
(13) X
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79. Maya is travelling towards South. Which of the following directions she should take mn order
to travel towards North?

(A)Rught, left, right, right (B)Left, right, right

(C)Right, right, left (D)Lef, left, left, left. A
mﬁmﬁwaﬁmmmm%lwﬁwmwmmammﬁmﬁﬂ

§ ® P OWE oF Em 7 - Hi X
{y=ia, @A, =i, = (B, =4, = 1 ] T—". t1
(€)M, T, T4 (DyAr, a1, @E, 9 -

0. Pointing to a photograph, a woman said. “This man’s son’s sister is my mother-in-law”. How
is the woman's husband related to the man in the photograph?
IA)Son (B)Grandson (C)Nephew (D}Son-m-law
% 53 AR R FE OE0 U A0E A %E N AR & E T 959 9l AW
' 39 3iRg F o # 39 P F ofm @ W oweey 22
(A) T3 - ((ByT= (C) VTS i (D) ZTER

§1. Which word will come in the second place if the following words were arranged according to
dictionary”

FA W IR gR | W A A fefates Bl v w o weEEm F AT SEead

& = 2
(A)Regard (B)Reason @@ (D)Ransom
82, If day-after-tomorrow 1s Sunday, what was the day-before-verterday”
(A)Wednesday (B} Thursday (C)Tuesday (D) Friday |3 Rt
A% W AE wE Y o A AR R, W AR Fm A e fm ey 7T

@’ﬂ‘ﬂﬂ (B) TFAR (C) HTeET (D) ¥IFER
83, clock is so placed that at 12 noon its minute hand pomts towards North-East. In which

dircction would its hour hand pointat 1.30 pm?
(A)East (B)North (CySouth (D) South-West

TF U TH van @ ¥ fF A # |7aafq=rzmgswqéifmn%|fﬁ

% 130 79 3@ " # o92 aen gi fem e = ey

Ay (B) 3T (Cy=fem ‘@timj{w ;
84. Jaya ranks 3% in a class of 53. What is her rank from the bottom in the ci;ss'.’

ssﬁaﬁﬁﬁm/jmsﬁmmmlﬁﬁmm’nmmﬁm? =

(A)48® @49"' ()47 ()50
85. If “+7 stands for ‘<", °< stands for ‘=", “+” stands for '~' and "~ stands for *+" then 2 — 8 «
2+6+7= 2
-qﬁ.,._;# m..‘v'..‘v$ m¢+~'.+v$‘ fﬁ'ﬁ‘—'ﬁ{‘-'ﬂ% m.\*_vgj a“
2-8x2+6+7= 2
3 R
(A)32 @.(B)w (C)23 (D)~ —3, T
P I S e K
”,/4‘4 BRRESA= Cakg: s
| /& Z\P ’ 2 YR v ' \ '/.' P ﬁ“
-~

. g ' W N
1



86. Which of the following logical diagrams will best describe the relationship between Birds,
Fruits and Mangoes”
= wfes sl % = F= =@ s fGfeE, wel dR o # A owEE w=
= yafa we #7

& @ Q -
o/

) (D) |
way
87. Find the missing figure — ¢

fom gam fx =1 @ o- ] AT P

W gt i e

= O @ p,-C-----_r) (
(327
$ o

O A \ {) ;‘01{_‘_&)
L9 2%

=

(A) (B) O (€) @)
@ A a O O %

88 Ais father of C. D is the son of B. E is the brother of A. If C is the sister of D, how 1s B related

to E7
(A)Daughter (B)Daughter-in-law (C)Sister (D)Sister-in-law
‘' w frm e d A W g T W R Y R, sl AR ' w
R, W@ A w P Wy o gE 8 _ w—”—'_,"l
(A)TR (B)TF-94 (C) T8 é;m'q‘t 14
89, How many times in a day (i.c. 24 hours) the hands of the clock are™i a straight line but not
together?
o o feedt AR (24 W2 W) WS w2 Al uw Al @ O v € we wE
feen W == ? :
(A)24 “ K(B)~22 (€12 (D)1
90, The minimum numbérof colours requited to paint all the sides of a cube so that no two

adjacent faces may have the same colour is -

TF T (cube) F T FH F fou wW B w9 fFad O #1 swEvawa w00 ARk w
{9 F AG F IS (face) TH W F A A7

(A)3 {(B)S (€2 (D)4

< Tt () o
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e 0 o BB A LI e}
- / ~ - - ) /-
LT T | oD o tei” S e
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A B g0 B2 AT g d dan op W B ohe B e oS we

gq‘ﬁm?gmrf&asrﬂqf#ngw#m?mef'au@:ﬁlmmmmhmvﬂn
A 1 T WA B A 21 O Hed 3 Saeel & w9 3w ghe A e asen
A of g #7013 P g S alE # R

feetl oferer faamel s - Z 140.00
wH. %, s (@) O g aRd Z 110.00
w, %, g T () T e Ak Z 75.00
(1989 & 2y &% F O T gy g4 Hied)

A 3F Zeq (7% 400)

HE FBA (AT

og. . o afE T (w6 s 5 )
et gferd arvr| SU7 @2 (20 T & i)
7 FE F@=

e = @ v+

. & 2 " w0

TH. .
b 9Ulelt I t&tot

w¥l) ward ol e aid g @ ¥

w4 g nﬁﬁnﬁmaﬁmmﬂ‘lﬂ@ﬁwa‘iwﬁndfﬁ@m‘%l

wf o faeht gfer, CPO-SI, SSC, Yo/ 3 RPSC @ &1 o LU Riftr=t mhemail & frdl 7 31
aftraTst wel @ e WAl g8 T 3/ anam an A R e ¥

qll® Chapter 3 Ue] @t @9 Types & 7 &1
{aémdsWﬁﬁma\%w%wm@dﬁ*m\vﬁlmmgwﬁmfm
e § 1A -, S, g, gelver s

7w E R R TIow SEd & a Rrendl ¥ o o 0 Tt & qaae andl @ T T ¥
fremfaa 2 eward ¥ 8 e arel vafal @ aw e st wvamm T

< e aEa qeq T 200.00 )
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